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M.Se. (Environment Science)/A

The current in a diode in 2 reverse binsed mode is due to :
{A) Diffisionofclectrons (B) Drifl ol'electrons
(C) Bothdriftand diffusion of electrons (D) No current flows at all

The process of combining speech with a carrier wave in radio broadceasting is called :

(A) Modulation (B) Rectification

{C)  Amplification (D} Detection

When the frequency of AC is douhled, the impedance of R-C circuit is :

{A) Unthanged (B} Doubled

(C) Quadrupled (D Decreased

Which of the following phenomena can’t be explained by the Huygen's wave theory of light 7
(A) Reflection (B) Refraction

{(C) Interference (I Polastzotion

In simple harmonic motion, the particleis :
{A) Alwavs accelerated (B) Always retarded
(C) Altermnatively acceleraied and retarded (I3} Meither accelerated nor retarded

IT the amplitude of waves at a distance r from a point source is A, the amplitude at distance
2rwill be ; '

(A) 2A (B) A

(C) A2 M) 3A

A capillary tube is partially immersed in a weiting liquid. The loss in weight of the capillary
tube is :

(A) Equal to the weight of water displaced (B) [essthan the weight of water displaced
(C) More than the weight of water displaced (13} Twice the weight of water displaced

Ot of 18 points in a plane, no three are in the same straight line except § points which are
eo-Tinear. The number of straight lines that can be formed joining them s

(A) 143 (B) 144 '

(C) 153 (D) 154
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9, The number of different permutations of the word ‘BANANA'is :

(A) 720 (B) 360
(C) 120 (D) 60
10. Inhow many ways 8 persons can be arranged in a circle ?
{A) 5040 By 5400
() 5004 (D) 4050

11. The number of ways of painting the faces of a cube with six different colours is :
(A) 6 (B) 1
(C} 16 (D) 64

12, If7 points out of 12 are in a same straight line, then the namber of triangles formed is ...
(A) 102 (B) 201
{C) 185 (D) 158

i3, The Bernoulli’s theorem is based on conservation of :
{A) Momentum (B) Mass
(C) Energy (D) Angular momentum

14. Inside a uniform spherical shell, the gravitational ....
(A) Potential is zero {B) Fieldiszero
{(C) Potential is different at all points (D} Field is same at all points

15. The hybridization of C in benzene is :

(A) sp B) sp*

(C) sp’ (D) sp'd
16. The density of water is the maximuom at :

(A) 0°C (B) 4°C

(C) —4°C (D) 100°C

17. The total number of electrons in the element “X_ is :
{A) 14 B) 7
() 21 (D) 49
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18. One a.m.u. is the mass equal to what fraction of muass of C-12 atom ?
(A) 1/4 By 112
) /6 (D) 118

19. Theatomic mass of an element is due to which sub-atomic particles 7

{A) Electrons (B} Neutrons
i(C) Protons (L3y Neutrons and Protons
2. The type of chemical bond in H,O molecule is
(A) lonic (B) Covalent
{C) Both lonic and Covalent (D) Neither lonic nor Covalent
21, BOD s : |
{A) Biological Oxyvaen Demand (B) Basic Oxygen Demand
(C) Biochemical Oxygen Demand (D) Botanical Oxygen Demand |

21. The general formula of alkene homologous serics is
{AJ CHHIHT: 1}‘] ‘:ni r:‘ﬂ
{E} CllHJu S ‘ul‘ CFHH

23. The stage after fermentation in which desired product is screened and purified is ...
(A) Scaling (B) Fermentation
(C) Downstream processing (I} Batch culture |

24. Anabolic steroids are artificial version of which of the following hormone ?

(A) Adrenalin (1) Testosteronc

{C) Progestronc (D) Insubin |
15, The specialization of homologous organs to perform variety of functions is :

(A} Parallel evolution (B) Natural selection

(C) Adaptive radiation (13)  Convergenl evolution

6. Which of the following is the first used antiseptic 7
(A} Sodium hvdroxide (B} Sodium Hypochlorite
(€) Carbolic acid (1)) Mercuric chloride |
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A type of selection that eliminates extremes from the population is Koown us :
(A) Directional selection (B) Disruptive selection
(C) Special selection (DY) Stabilizing sclection

Which of the following is & major single cell protein ©
(A) Yoghun (B) Whey
(C) Pruteen (0 Quom

Which of the following is the median of the set of numbers: 4,200, 7,6, 47

(A) 7.3 (B) &

(c) 7 () 4

AType I erroris also knownasa .

{A) False positive {B) Falsencpative
{C) Doublenegative (3} Positive negaitve

A distribution with short tail gs compared to the mormal distribution is said to be

(A} Mesokurtic (B)  Platykurtic
(C) Leptokurtic (D) Pyrokurtic
Standard deviation is ......... of variance.

{A) Square {(B) Squarc oot
{C) Half (D) Double

Which of the following terms refors to the succession starting from a sali rich marshy area ¥

{A) Halosere (B) Psammosere
() Lithosere (D) Hydrosers
Which of the following is the source of Gum arabic 7

(A) Astragalus gummifer (B) Acacia Senegal
(C) Amogeissus latifolia () Aegle marmelos

Which of the following plants is the source of Vetiver oil 7
(A) Veriveriazizanioides (B) Vilex negundo

(C) Viris vinifera (D) Vermomia galamensis
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36. Which of the following contains inverted cortical vascular bundies 7
(A) Bodrhavia (B) Helianthuy
(C) Luffa (D) Nvetanthes
37. Inwhich of the following Pepo type of fruit is found ?
(A) Apple (B} Water melon
(€} Orange () Otive
38. Fuelgen's test is used to drtect the presence of :
(A) Sugars (B) Proteins
(C) RNA (D) DNA
39. During translation, which of the following represents the initintion codon of mRNA 7
(Ay GG B UG
(C) AUG () UG
40. Which of the following technigues is used to detect DNA ina given sample ?
(A) Far-Eastern Blotting (B)  Western Blotting
(C) Southem Blotting (D} Northemn Blotting
41. Which of the following phytohormones control the apical dominance 7
(A) Ethylene (B) Indole acetic scid
(C) Gibberellins (1) Abscisic acid
42. Which of the following is the first formed produet of earbon fixation pathway in C, plants 7
(A} 3-Phosphoglyceric acid (B) Gilutamic acid
(C) Phosphoenc! prruvate (D) Oxaloacetic acid
43. Seeds which get damaged during the long term storage are known as ., ,,,,
(A) Orthodox seeds (B) Recalcitrant seeds
(C} Photoblastic seads (D) Synthetiv seeds
4. Stevigisa natural............
{A) Preservative (B) Colouring agent
(C) Taste enhancer (I Sweetener
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45. Which of the following states does not have a National Park ?

(A) Bihar (B) Haryma
{C) Rajasthan (D) Pumjab
46. Tn which of the following states is Silent Valley located 7
(A} Tamilnadu (B) Kerala
(C) Orissa (D) Andhra Pradesh

471 HFM j-““'i! f-l!lr.....u 5s

(A) Suspended Particulatc Matter (B) Suspended Particulate Material
{C) Suspended Polluted Matter (D) Suspended Plastic Matenial
48. Which of the following chemicals was responsible for Bhopal gas tragedy 7
(A) Radicactive iodine (B) Methyl isocyanstc
(C) Mercury (D) 24-Dichlorophenoxyacetic acid

49. A sound becomes noisc above :
(AY 120 dB (B) 50dB
(C) BOdB . D) 100dB

50. Which of the following is the lowermaost layer of atmosphere ?

(A) Thermosphere (B} Mesosphere

(C) Stratosphere () Troposphere
51, 5" June is celebrated every year as World ............ day.

(A) Wetland (B) Forestry

(C) Water M) Envimomment

52. Ewery year, World Population Day is celehrated on :
(A) 11Aprl B) 11 July
{C) 11 October (1) 11 December

53. The deficiency of which of the following vitamin causes-Pellagra 7

(A} B, (B) B,
(C) B, (D) B,
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54. In which of the following organ of body, the haem breakdown occurs 7
(A) Splecn (B} Heant
(C) Liver (D) Kidney
55, Tapeworms belong to which of the following phyla ?
(A) Arthropoda (B) Nematoda
(C) Annehida ([} Platyhelminthes
56. Geothermal cnergy is:
(A) Non-renewable & Nan-conventional (B} Non-rencwible & Conventional
(C) Rencwable & Non-conventional (1)} Renewsahle & Conventional
57. The science of baving awarcness about rights and wrongs of environment is known as:
(A) Environmental Ethics @) Emvironmental Fducation
(C) Environmental Preservation (D) Environmenial Conservation
58. Athigh altitudes, the boiling point of water decreases dueto:
(A) Low temperature (B) Hightemperature
(C) High atrmosphicTic pressure () Low atmospheric pressure
59, Which of the following reaction vield benzy! aleahol from henzaldchyde 7
(A) Cannizzaro reaction (B) Perkin reaction
(€C) Wtz reaction (1) Claisen reaction
60. Nessler's reagent is used for the detection of :
(A B Mg
(C) N&' (D) Ca'
61. Which amongst the following is a naturally oceurring polymer ?
(A) Nyion (B) Polyethene
(C) Starch ) Teflon
62, Ourearthis:
(A) Perfoct sphere My Geoid
(C) Ellipse (1) Allofthese
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63. How many stages are there in a thunderstorm ?
(A) 1 (B) 3
(C) 5 o 7
64, Kyoto Protocol relatesto ;
(A} Ozonedepletion (B) Ozone protection
(C) Desertification (D) Climate change
65. Kazirangs National Park is famous for :
(A) Lion (B} Deer
(C) Tiger (D) One-homed Rhino
66. Which of the following contains lead *
{A) Paint (B) Synthetic food additives
{C) Cosmctics (10} Neem oil
67. Which of the following is a very destructive invasive fish included in the list of world's 100 wors
invasive species 7
{A) Catla Catla (B) Common Carp
(C) Wallago Artu (D) Labeo
68. Kidney cells are known as :
{A) Chondrocytes (B) Nephrons
(C) Neurons (D) Hepatocytes
69, Farthworm belongsto:
{A) Annclida (B) Mollusca
(C) Amphibia (D) Arthropoda
70. Glycolipids are association of lipids with :
(A) Vitamns (B) Proteins
(C) Carbohydrates (D) Amino acids
71. Which of the following cities has the highest number of slum dwellers ?
(A) Kolkata (B) Chennm
(C) Bengahmu (D). Hyderabad
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In India, Population census is carried under which ministry ?

(A} Family Welfare

(C) Human Resource Development
Liquid nitrogen boils at :

(A) —196°C

(Cy -192°C

DDT was discovered by :
{A) Rachel Carison
(C) Alexsnder Flenting

The average salinity in sea water is :

(A) 25ppt
(C) 35ppt
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Social Welfare
Home Affairs

— 194 °C

- 196*C

Paill Muller
Robert Koch

3 pp
40 ppt
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